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Introduction to nnan — wy-tav 79

We have thoroughly explored issues related to carrying and now the nwn focuses on the remainder of the
MR - identifying, as we did for nkxn, the minimum 79w for liability. This short p79 will explore 12 and
nw1n and related mar but most of the focus will be on nana.

2.12.1
102b (x m2wp) 2 103a (729307 KYINI TIVPT)
I o of Pia - all are "R1nw 93” (no minimum — 27N for the least amount)
a. variations: includes building, chiseling stone, striking with a hammer or with an axe, drilling a hole
i. note: chiseling stone is liable for n11 (21) or for w1 Nan (HRINY)
1. and: drilling an air-vent in a chicken coop is 1112 (21) or w91 NN (HYRINY)
2. and: plugging a handle into the socket of a shovel is 121 (27) or ¥va2 NN (HRINY)
a. justification: if we only had 1% dispute, X"70 that 27 would agree that #2 is w>va1 nan — not *12”
b. and: if we only had 2"¢ dispute, 870 that 21 holds that an airvent is 122 717, but not the 3 - 5"np
c. and: if we only had 3 dispute, X”10 that YR1mW only holds w>va1 nan there, per above — 5"np
ii. question (asked of 121112 77): what is aR of chiseling?
1. Answer (which he pantomimed): w091 NN
a.  Challenge: mwn lists nnon and w»vaa nan
b. Answer: read "w>0a1 Nan — nnon” (i.e. definition)
iii. Drilling: only 11 fits with mwn; to YRNY, it isn’t va1 NN, as he hasn’t completed narvn
1. Defense: case where he leaves drill bit in hold (to plug hole)
b. rule: any nar>n done which remains “as is” on naw — liable

i. including: a case where he hollowed out a small area within a piece of wood fit for more
c.  27awT adds striking the anvil with a hammer — it is a np'n
i. Reason (9012 271 7127): he is training his hands for work
1. Challenge: if he observed an artisan and learned what to do — would he be 1n?
ii.  Rather (827 73K): those who would hammer out small pieces of metal for 12vn would do so (xn>a corroborates)

II. Significance of negligent size ("R1nw 93”) for 112
a. /mp7 1 apoor man digs a small hole to bury his coins
i Parallel in pawp: stitchers of curtains would bury their needles
ii. Challenge (»2n): that causes them to rust >they don’t bury them
b.  »ax: poor man makes tiny legs for a small n”

i. Parallel in pawp: if they didn’t make enough dye for curtains, they would make a small 1173 for that
ii. Challenge (37 72 8nx 77): there is no sign of poverty in the place of splendor (j2vn)

c. 3Py 12 &K ’7. a person will seal up the smallest hole in his house
i Parallel: if a wp had a worm(hole), they would seal it with a small piece of lead

III.  5mnw’s ruling about laying down building stones — if he sets it in place he is liable for 112
a.  Challenge: Rn»11 — if one puts down the stone and the other puts the mortar — the latter is 27n
b.  Counter: (ibid) 'ov "3 maintains that even if he put a stone on top of a frame of stones — 27n (without 1)
i Rather: there are 3 levels; at foundation, T17% needed; at middle levels — mortar; and on top — just placing
IV. 2 mwn: wnn and related max%n - no minimal amount for liability ("Rinw 92”)
a.  Related monsp: weeding, trimming tree, cutting off little shoots
b.  Collecting wood: if to help tree — X1nw 3; if for fire — enough to cook “light” egg
c.  Collecting grass: if to improve land — ®nw %3; if for food — enough to fill goat-kid’s mouth
V. Discussion
a.  Value of negligible plowing: for one gourd — parallel in 1own — it is fit for one stalk of dye-plant
b.  ar71x if he uproots endives or trims shoots; if for eating - 1YW is n3; to feed to an animal — 1YW is one full
goat-kid’s mouth; for fuel — enough to cook a “light” egg and if to beautify the land — 0w 9
1. Challenge: all of these beautify the field
2. Answer 1 (901 377 737): context is a marsh (no ypip na»)
3. Answer2 (73x): even in a regular field — as long as his intent isn’t to beautify land
a.  Challenge: Xam »aR hold that w”1 agrees in a case of MW Poa that MOR 1NN WRY 127
b.  Defense: case may be where he is working in another’s field — no interest in ypap »a»
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